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Instruction 5388

. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
FEARWCE BB ERIAR/N A, 78 A ZEB B ekt 1

. 'This is a 30 question multiple choice test. For each question, only one answer choice is correct.
EA-EAUMGEERFENNRN, SEEE A —MEIERER.

. Each question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 120 points.

FEEEMARENSME, FEENS, BHEEER/00 . ARWHKRS %1205)

. Mark your answer to each problem on the answer form with a #2 pencil. Check the blackened circles for
accuracy and erase errors and stray marks completely. Only answers properly marked on the answer form will
be scored.

RIS TE R SR # 28R EAREE R R b W RO AR R Y PR 0 [ PR P MR, AR B 58
SERERAOERMSRIEGT. RAREEEESE R EHERS YT

. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test reguire the use of a calculator.

HAEFEA ARG TAsA. R BAGSAIR BRI TR sHST4E A AT AR . Wald i
A7 AT A ] R 2 7 B P B o
. Figures are not necessarily drawn to scale.

WA — e LA R

. Before beginning the test, make sure to record your name, school name and Competition ID on the answer
form, especially to bubble in the 8-digit Competition ID completely!

FERARGBIRAZ AT, FERERTAMRI AT, BEAMMEE @ IRBURTERE R L, Feh 8 IS R ota
BT AR AR A SRS IHT P

. You will have 75 minutes to complete the test once your proctor tells you to begin.
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Part 1: 10 problems, 3 points each | £—#4% : 10;8&EE » /&35

1. Which cloud contains four even numbers?

Wh—orE AT EEE ?

58
(E) 10

2. How many hours are there in ten quarters of an hour?

TR 5 2 —/NRf & % 2D /N 2
(A) 40 M9+ (B) 5 and a half FL{f¥ (C)4 ™
(D)3 = (E) 2 and a half M{E

3. A 3 x3 x 3 cube is built from 1 x 1 x 1 cubes. Then some cubes are removed from front to back,
from left to right and from top to bottom, as shown. How many 1 x 1 X 1 cubes are left?

A1 x 1 x 1KISZ 77 R8HEEE T — A3 x 3 x 3HYIL 788 - MR AR - 1ERTEIR » AR A » L
BITBERT —£5 058 - FIRF T2 AMEL x 1 x 1327788 7

===

s

(A) 15 (B) 18 (C) 20 (D) 21 (E) 22

4. Three rings are linked as shown in the diagram. Which of the following diagrams also shows the
three rings linked in the same way?

QN AR o =EERERAE—E o DUTHRE Bt BUR T DUMRD D7 sUE B A =85 ?

/N
&® ©® &
(D) @ (E) @
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5. Which of the diagrams below cannot be drawn without lifting your pencil off the page and without
drawing along the same line twice?

QR FESREARHEAR - I B —PRARASREF MUK » B0/ T R {1 e vk S H 2

(A) (B) (C)

(D) (E)

6. Five friends met. Each of them gave a cupcake to each of the others. They then ate all the
cupcakes they had been given. As a result, the total number of cupcakes they had decreased by a
half. How many cupcakes did the five friends have at the start?

FERARRTE - fIEEARS T R BEAN—ERAEERE - RRMAFIZ T KRR ERRE
B o BR o M FIF A ERERRBIRD T —¥ - MAMAK s L O EARRERE ?

(C) 30 (D) 40 (E) 60

7. In a race, Lotar finished before Manfred, Victor finished after Jan, Manfred finished before Jan
and Eddy finished before Victor. Who finished last of these five runners?
TE—35H P LI F > LotarfEManfred Z B E3Z# 25 » VictorfEJanZ % E3EXES » ManfredfEJanZ
BIEELE, > i HEddy7E Victor Z B B E AR, - ME DL 2B FPHIRIR — 4 & ?

(A) Victor (B) Manfred (C) Lotar (D) Jan (E) Eddy

8. The pages of the book Juliet is reading are all numbered. The numbers used on the pages contain
the digit 0 exactly five times and the digit 8 exactly six times. What is the number of the final page?

Juliet IEFEBRRR)EHE R AR - EREAMWIT - BFORFHERT LK » BMFsihF T
AN - sk —HRSRS D ?

(A) 48 (B) 58 (C) 60 (D) 68 (E) 88

9. A large square is divided into smaller squares. What fraction of the large square is colored grey?

—{EREIES BT BT — LB/ NYIETT T « IREHTERME RIEG FEAIE D 2 5% ?
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10. Andrew divided some apples into six equal piles. Boris divided the same number of apples into
five equal piles. Boris noticed that each of his piles contains two more apples than each of Andrew’s
piles. How many apples does Andrew have?

Andrewit§— 65 R 5 FAHF 975 o Boristf FIRBR AR 5 AHF A9 L HE o BorisiE R 2 4th
H 4 —HEET L Andrew 1 —HER B L BEZAR B AndrewH Z/MEGHR ?

(A) 60 (B) 65 (C) 70 (D) 75 (E) 80

Part 2: 10 problems, 4 points each | % —#4 : 10;8&EE » B&E45

11. Four-digit integer are written on each of three pieces of paper. The pieces of paper are arranged
so that three of the digits are covered, as shown. The sum of the three four-digit integers is 10126.
Which are the covered digits?

E=RAK L2 BIRAE A S - MEFTR » EREHE—ERE =ABFHREE T - =—@EHAE
BRI 10126 - RGBT 5B ?

12431
,}&

(A)5, 6,7 (B)4,5,7 (C)4,6,7 (D)4, 5,6 (E)3,5,6

12. In the diagram, PQ = PR = @S and angle @ = 20°. What is the size of angle @?
W PR » PQ=PR=QS > i HMA QPR=20°° A RQSEZK?
0

OO 1l
P " R S

(A) 50° (B) 60° (C) 65° (D) 70° (E) 75°

13. Which of the following 4 X 4 tiles cannot be formed by combining the two given pieces?

WRME4 x AREREANEESIEE T H AR AW A PREL ?

« X
e e g e T

3
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14. Alan, Bella, Claire, Dora, and Erik met at a party and shook hands exactly once with everyone
they already knew. Alan shook hands once, Bella shook hands twice, Claire shook hands three times
and Dora shook hands four times. How many times did Erik shake hands?

Alan » Bella * Claire * DorafllErik7E —{E 2 & LAHIA » WA+ 2 LB BR/AEF —IX -
Alani T —IKF » Bellaf2 T WIKF » Clairel8 T =IXF » Dorai® T TUIKF o MEriki2 THIKF ?

(A)1 (B) 2 (C)3 (D) 4 (E)O

15. Jane is playing basketball. After a series of 20 shots, Jane had scored 55% of the time. Five
shots later, her scoring rate had increased to 56%. On how many of the last five shots did she score?

JaneTEFTEEBK o FE20IXBEER » JanefI3 3R B55% ° X T 5iK1R » tHIE 0 R R T56% °
it Bk AR EFE L DRRGS ?

(A) 1 (B) 2 (C) 3 (D) 4 (E)5

16. Cathie folded a square sheet of paper exactly in half twice and then cut it in the middle twice,
as shown in the diagram. How many of the pieces that she obtains are squares?

WNBEHF7R » Cathien —TRIET FTERIARBHTMIK » RREFHBYFHEMK - h&FE LD HFIETE ?

= ¥

) = e

(A) 3 (B) 4 (C) 5 (D) 6 (E) 8

17. Michael keeps dogs, cows, cats and kangaroos as pets. He tells Helen that he has 24 pets in
total and that % of them are dogs, % are NOT cows and % are NOT cats. How many kangaroos does
Michael keep?

Michael#¥) ~ 4 ~ SRR FAVER Y o fb53FHelen » ARSI 24RTY > HP LR - 3R
40 SAES  MiMichaelH £/ AR ?

(A) 4 (B) 5 (C) 6 (D) 7 (E) 8
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18. Some identical rectangles are drawn on the floor. A triangle of base 10 cm and height 6 cm is
drawn over them, as shown, and the region inside the rectangles and outside the triangles is shaded.
What is the area of the shaded region in cm??

AR BT —EMFRRRITTE - EFTR > B —E RS RE 10cmi & &6cmi =M » HERTT
FEA > HRA=AEIINIESABRERL - MR ESHNEREZL Pom? ?

ZAm

6cm

10cm
(A) 10 (B) 12 (C) 14 (D) 15 (E)21

19. Julio has two cylindrical candles with different heights and diameters. The first candle lasts 6
hours, while the second candle lasts 8 hours. He lit both candles at the same time and three hours
later both candles were the same height. What was the ratio of their original heights?

Julio R i FE A B[R] 9 B AR TR AU - 55 —HRIBUE rT R R 6 /NI » 17 38 — AR U T AR R8N
IRF o fth [RIRF RS AR T AR ARV » = /N 1R AT AR MR 1 1o BE AR o PRV [ AR Y R BE LBl R 2 2 2

(A)4:3 (B)8:5 (C)5:4 (D)3:5 (E)7:3

20. Aylin wants to create a path of matches using as few matches as possible. She places each
match on the piece of paper like the one shown, along one of the dotted lines. Her path returns to the
left-hand end of her original match. The numbers shown in some of the cells are equal to the number
of matches around that cell. How many matches are in this path?

AylinF8 A6 F 5% 7] G840 HY K SRR A E — 1 K SEBRAE o Gt 5 45 AR K S BSCHE 200 B e 7= ) 4K Y R 4%
Lo HA—HRASRIERE B BUR - tiRBR SRR R ER SRR Ao mEh o L BTAR P RURIVBF
FRZ BT A B KORBE  RERBRIE LR 2 RS ?

(A) 12 (B) 14 (C) 16 (D) 18 (E) 20
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Part 3: 10 problems, 5 points each | =% : 10;8&EE » B&E55

21. The integers from 1 to n, inclusive, are equally spaced in order round a circle. The diameter
through the position of the integer 7 also goes through the position of 23, as shown. What is the value
of n?

RE1E e B (RFEEREME) ZIEFERAE LFREHES] o @R - @R e Z1
HEWAR23FEME - MngdZD ?

(A) 30 (B) 32 (C) 34 (D) 36 (E) 38

22. Liam spent all his money buying 50 soda bottles at the store for 1 Euro each. He sells each
bottle at the same higher price. After selling 40 bottles, he has 10 Euros more than he started with.
He then sells all the remaining bottles. How many Euros does Liam now have?

LiamfE T FT A BISELE BTG B T 50MBRITK » BH1IBOT - M UIEEE R ERAERHEE - £
FAOMBRTT K Z 12 > M EARLLFHIARE £ T 1080t - REBME AR THIERITK » MLiamBFER L
BT ?

(A) 70 (B) 75 (C) 80 (D) 90 (E) 100

23. Natasha has many sticks of length 1. The sticks are coloured either blue, red, yellow or green.
She wants to make a 3 x 3 grid, as shown, so that each 1 x 1 square in the grid has four sides of
different colours. What is the smallest number of green sticks that she could use?

Natasha HR Z REHIRT - EERNBNBEHEMEE - A6 - HEEkE - MER > A
ZRUWE—E3 x SRR » R x LEFERUESE AR - i/ BZR L R GRERT ?

(A) 3 (B) 4 (C) 5 (D) 6 (E) 7
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24. An ant would like to walk along a marked line on the surface of a cube until it returns to its
starting point. From which one of the following nets could a cube be made so that such a journey is
possible?

— USRS L TR EAVERRCARATAE » WA EEIE R H FEEG o DUT VP18 R B I f50aL
HISLT7HE » 7T DAGEAS IR T ERRAYITAE ?

- N ™
\\\ K LY [
a L ® L © L
N N
N N N Y
o L ® L

25. Elisabeta had a large bag of 60 chocolates. She started by eating one 10th of them on Monday,
then one 9th of the remainder on Tuesday, then one 8th of the rest on Wednesday, then one 7th on
Thursday and so on until she eats half of the remaining chocolates from the previous day. How many
chocolates does she have left?

ElisabetaH —KER608LTT 5w /] » B —IZ T T2 — » REEEP I T RER TR Z
— RREF=Z T REF TR\ 22— > BN T RER TH-EH 2z — » RIKEHE » B3tz
Bl — RRER T N —F R 1k o R T 28I ) ?

(A)1 (B) 2 (C)3 (D) 4 (E) 6

26. Prab painted each of the eight circles in the diagram either red, yellow or blue such that no two
circles that are joined directly are painted the same colour. Which two circles are necessarily painted
the same colour?

Prabyi [ '/ \ B & o )5 —E# 8 LALE - HEREAKN—  FERAMER ESMHENE
R 58 FSUA R A B o T T 0 R P 0 AR08 AR RT OB R 2

O—2D0B—®

5 {6) 8
(A)5and 8 (B)1 and 6 (C)2and 7 (D)4 and 5 (E)3and 6

27. When Ria and Flora compared their savings, they found that the ratio of their savings was 5 :
3. Then Ria bought a tablet for 160 Euro and the ratio of their savings changed to 3 : 5. How many
Euro did Ria have before buying the tablet?

ERiafFlora L BARFIHIFF R - M FIEBABFIFAI LB RS - 3 - SR RiaF T 160BUITHIFAR
BAE > MTRFEREL B8 %3 « 5 o RIEREE PR EREZ 8T > Riag £/ EUT ?

(A) 192 (B) 200 (C) 250 (D) 400 (E) 420



Cadet 2019 Hong Kong Mathematics Kangaroo Contest Grade 7 & 8

28. Some three-player teams enter a chess tournament. Each player in a team plays exactly once
against every player from all the other teams. For organisational reasons, no more than 250 games
can be played in total. At most, how many teams can enter the tournament?

HTZARSMBBEHRETRE - BEKNELSTEX ASETH LRI SEA LR K - HAE
ARRE - HEFRAVARGIRARERIR250 © % 7T LA £ DBKA] LS InEieRgE ?

(A) 11 (B) 10 (C) 9 (D) 8 (E) 7

29. The diagram shows the square ABCD with P, Q and R the midpoints of the sides DA, BC
and CD respectively. What fraction of the square ABCD is shaded?
WME TR » FEEFHHABCDY » P> QMRS HIEBDA » BCHCDHH % o RIS G IET

T ABCDHI885) 2 46 7
D R C
p Q
A B

(4) 2 OF (© ; (D) 1 ®)

30. A train is made up of 18 carriages. There are 700 passengers travelling on the train. In any
block of five adjacent carriages, there are 199 passengers in total. How many passengers are in the

middle two carriages of the train?

— 5 KB 18 B FAAR A o K EE_ESAT0045 % o 1EAEAT T B A E A B R AT AR I A 19948 3R
& o MAEFRWIERE AL DL RE ?

(A) 70 (B) 77 (C) 78 (D) 96 (E) 103



